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5 THEF f@— * ® 3 7
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1 #2 #%5 x wk 3 7
8 /NEFF Ef * 1 11
10 xR — % %k k% x kk 8§ 3P
11 g FHk 0 12
13 B4R # L sk dok ok kk xk 10 1 P
15 £ B’X ®k 2 9
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3 1kBE & 11 1 1 1 1.0
4 HFH & 5 5 4 4 4 50
6 wiE F*H 3 4 5 3 5 4.0
10 K&K — 6 6 6 6 6 6.0
13 B K= 2 2 2 2 3 20
17 B3 —8 4 3 3 5 2 3.0
i H Rumba
3 ki 1“— 11 1 1 1 1.0
4 HH 5 4 5 3 4 40
6 ik TEHE 3 5 6 4 5 50
10 uA 6 6 4 6 6 6.0
13 B4R ?ﬁ%:l: 2 2 2 2 3 20
17 &3 — 4 3 3 5 2 3.0
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3 kB K- 1.0 1.0 2.0 1.0
4 EH & 5.0 40 9.0 4.0
6 ik FEA 4.0 50 9.0 5.0
10 WX — 6.0 6.0 12.0 6.0
13 B8R &=L 20 20 40 20
17 B3 —5 3.0 3.0 6.0 3.0
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